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. Pascal

[ ]

(Backus Naur Form)

BNF




Pasca : Z=X+Y

COPY AX,X
T~ ADD AX,Y

COPY CN1,AX
COPY AX,CN1
COPY Z,AX

0010110100100
0110101010001

0011001000100
1100100101101

0110110100001




Pascal

COPY AX,X
ADD AX,Y
COPY CN1,AX
COPY AX,CN1
COPY Z,AX




Pascal

L. =X+Y

Pascal

COPY AX,X
ADD AX,Y
COPY CN1,AX
COPY AX,CN1
COPY Z,AX







El:

E2:

E3:

E4:

ES:

>

> < >
> < >
> < > <

> < > <



< S m— < > - Ando
D — < > < > < > . a crazy guy
>S9 < > < >< > < >

. the old woman who | met yesterday



> <

> <

><

> <



> < >

> < > <

can sing well

sings
sings well

>



an



E1l7: < >— Ando, Japan, Shizuoka,

computer, information,

1 (me), you, she (her),

E18: < >— play, speak, run,



E19: < >— old, beautiful, easy,

E20: < > —> well, gently, carefully,



El

E21

Mr. Ando is a girl.




Ando

Ando

Ando

< >
< >
< >
< >
< >
plays

<

>

plays tennis

E3:< > =— < > <
E6:- < > = < >
E12:< > — < >
E9: < > m— < >
El7:< > = Ando
E18:< > —» plays
El7:< > = tennis

>



< ™ E3:< > —»< >, < >4 <

< >5 < >3 < >, E6:< >, — < >
< >c < >q < >4 E12:< Sq = < >6
< >p< >6< >4 E9: < > =— < >
< > < >5< > E1l7: < > —> Ando
Ando < >6< > E18: < >s —> plays
Ando plays < > El/: < >, — tennis

Ando plays tennis



Pascal
— Pascal —

Pascal

Pascal



identifier

Rl1: <i1>, —




(expression)

R2: <e>; —

<I>j

R2

e

expression




(statement)

R3

R3: <s> —

<j>

<e>;

S

Statement




R3:
R1:

R2:

R1:



R4,R5

R4: <e>, — (<e>j + <e>))

R5: <e>.
e ; — (<e>j * <e>k)




Y = (XX + YY)

e <e>3

.= <e>3

=(<e>, + <e>;)

-A(<I>;, + <e>; )
=(XX + <e>; )
=(XX + <i>,)
= (XX + YY )

R3:
R1:

R4 :
R2:

R1:
R2:
R1:

<S>, — <I>, I= <e>,
<i>2—> Y

<€>; — (<e>, + <e>;)
<e>, — <I>g

<i>6 — XX

<e>; — <I>,

<i>7 — YY



SUM := ((X * C) + SUM)

SUM: = ((<e>,*<e>;) +<e>.)

<e>3

<e>,

(<e>,+<e>;)

((Si>,*<e>y)+<e>;)
((X*<e>,)+<e>,)
((X*<i> )+<e>)
((X*C)+<e>; )
((X* O)+<i>, )
((X* C)+SUM )

R3:<S>; —» <I>, :

R1-<1>, —> SUM
R4 :<e>;

RS:<e>,

—_—
—_—
R2:<e>, —» <I>
R1:<1I>y —>
R2:<e>; —»
R1: <i>,, —>
R2: <€>5 —p <i>11

R1: <i>11 — SUM

+

<e>

<e>;)

<e>g)



<S>

1

1

Y ;:(<e>4 4 <e>5) — Y
— Y =X + <e>) —/ Y

— Y = (XX + YY)

Y = (XX + YY)

<S>

<I>, 1= <e>; — Y = <e>;

= (K135 + <e>)

= (XX + <i1>,)

. —*_> Y 1= (XX + YY)



<|> <S>
(a) YXY (b) JACK
) X:=Y  (d) X:= (X*X)
(€) YYY = (Y * (X + X))

() XX := (X + XX) *Y)

(9) X:= ((Y *Y) + (X * X))



